
 

 

【１】次の方程式を解きなさい。 (1) 3! + 2 = ! + 1      (2) 3 − 2! = 3! − 17      (3) 8! − 2 = 3(! + 2)      (4) 0.2(! + 4) = ! − 1.2    

(5) − 5(2! + 3) + 6! = 8! + 21      (6)  ! + 2 2 =  4! − 7 3       (7)  ! − 1 2 +  ! 3 = 1      (8)  2 − 5! 3 + 3 =  7! − 3 9       
16 

2 x= - 1 - 1 O( - 15 t 6x = 8 xt 21

∴x = - で ー 12 x = 36

∴ x = - 3

X 6
- 5つ( = - 20

3 ( x + 2 ) = 2 [ 4x- 7 )
∠

∴ x = 4
3 x t 6 = 8x - 14

- 5 )c = - 20

x = 4

X 6
8 x - 2 = 3 x t 6

3 (x - 1 ) + 2 x = 6
2

5K = 8
3 x - 3 + 2 x = 6

∴ x = 58 5 c = 9

∴ x =359

× 9
2 [x + 4 ) = IOx - 122

× 10

3 [2 -5x ) t 27 = 7x - 3
～

2 x + 8 = 1 Ox - 12
6 - 15 x t 27 = 7x - 3

- 8x = - 20
- 22 (= - 36

3C =
20 5

8 2 ∴ (= 2236
∴ x = 5


